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Which of the universities in north

‘India initiated the teaching and
research in sociology ?

(1) Punjab University

(2) Delhi University

(3) Lucknow University

(4) Agra University

Which of the following is the base of
development of sociology ?

(1) Political philosophy

(2) Political system

(3) Political conflict

(4) Political behaviour

Who said that “sociology is the
science of collective behaviour” ?

(1) Durkheim '

(2) Park and Burgess

(3) Weber

(4) Bernard

Sociology is characterised by a
perspective that places which one of
the following in the foreground ?

(1) Unique social events

(2) Social interaction

(3) Culture
(4) Individual

Who prefers to replace the concept of
society by concept of social system ?
(1) Anthony Giddens

- (2) Robert Bierstedt

(3) T.Parsons
(4) H. Marcuse

Who enlists the characteristics of
society-definite  terrifory, progeny,
culture and independence ?

(1) Maclver
(2) F.Tonnies
(3) Harry M. Johnson
(4) Kingsley Davis
15
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7.

Match the list :
List -1 List — II
{a) Sub-culture 1. Hippie
(b) Contra-culture 2 Language
(c) Vehicleof 3. Army
culture
(d) Cultureclash 4. Ayodhya Temple
_ Movement
Codes :
(@ () © (@)
(1) 4 2 3 1
2y 1 2 3 4
G 3 1 2 4
@1 4 2 3

An institution is composed of ______
(1) Actors and Groups

(2) Rules and Procedures

(3) Values and Norms

(4) All the above

Match the items :
List—1I List —II
I In-group 1. Faceto face
relationship

II  OQut-group 2. They group
"ML Small group 3. Wegroup
IV Primary group 4. Diad
Codes :

I I m IV
M1 4 2 3
2y 4 .3 1 2
3) 3 2 4 1
4 4 1 2 3
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10.

11.

12.

13.

14.

Which one of the following is not a
basis of community life ?

(1). Common locality
{2) Common thinking
(3) Community sentiments.

(4) Common way of life

Which among the following is the

cause for growth of regionalism in

India ? '

(1) Extension of education

(2) Problem of unemployment

(3) To consider regional
superior

(4) All the above

culture

Which of the following cau_se_s.-'aré not
responsible for corruption ?

(1) Fulfil seif interest

2 Complef_e knowledge about rules

and laws
(3) More competition
(4) Co-operation of higher authority

The classification of institutions into
“crescive” institutions and “enacted”
institutions given by

(1) George Simmel
(2) Spencer
(3) Sumner

~ (4) Parsons

“Cold War” is an example of
(1) Class conflict

(2) "International conflict
(3). Direct conflict |

(4) Indirect conflict

15
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15.

16.

17.

18.

19-

The disharmony between the rapid
growth of technology and slower
transformation of social institutions
and traditional beliefs is known as

(1) Cultural diffusion
(2) Cultural innovation
(3) Cultural lag

(4) Cultural assimilation

“Levirate and the sororate are examples

of

. (1) Adelphic polyandry

(2) Types of exchange
(3) Preferential marriage
(4) Prohibitive marriage

Who has called magic as the bastard
sister of science ?

(1) Malinowski

(2) Frazer

(3) Redcliffe — Brown
(4) Tylor

Tharawad is a matrilineal joint family
found in the state of

(1) Maharashtra
(2) Kerala

- (3) Assam

(4) Orissa

Government’s giving scholarships to
schedule caste and schedule tribe
students is an example of

(1) Positive discrimination
(2) Preferential treatment
(3) Affirmative action

(4) Meritorious service
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20.

21.

22,

23.

24,

Which one of the foliowing elements
is not a determinant for including any
caste in the category of scheduled
tribes ?

(1} Geographical isolation

(2) Size of community

(3) Backwardness

{(4) Distinctive culture

Which of the following is not a feature
of association ?

(1) A collectivity of people
(2) Having certain objectives
(3) Voluntary membership
G Pursuipg ideal norms

Who among the following made
distinction between two types of
conflict namely “realistic” and “non- .
realistic™ ?

(1) Gillin and Gillin
(2) Karl Mannheim
(3) Maclver and Page
(4) Lewis A. Coser

Who classified Indian population into
six broad racial groups ?

" (1) Risley

(2} B.S. Guha
(3) Kroeber
(4) All the above

Who of the following does not
approve that social stratification is a
functional necessity ?

(1) K. Davis

(2) M. Tumin
(3) T.Parsons
{(4) W.Moore
1_5
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26.

27.

28.

29,

30.

Which of the following is not a
characteristicof class ?

(1) Class consciousness

(2) Polarization of classes

(3) Class antagonism

(4). Ascribed membership

Prejudice and. feelingé of cultural
superiority give rise fo .

(1) Cultural relativism

(2) Cultural deprivation

(3) Ethnocentricism

(4) Cultural reproduction

Who said “Culture is the product of
Agrofacts, artifacts, sociofacts and
mentifacts” ?

(1) R. Benedict

(2) E.B. Tylor

'(3) David Bidney

(4) A.L. Kroeber

Which of the following is not an
agency of social control 7

(1) Judiciary
(3) Religion

(2) Economy -
(4) Norms

Which one is not an example of social
mobility ? ' -

(1) Hypergamy

(2) Hypogamy

-(3) Politicization

(4) Migration

Who gave the concept of direct and

~ indirect cooperation ?

(1) K. Davis -

(2) H.M. Johnson

(3) Maclver and Page
(4) Gillinand Gillin
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31.

33.

34,

35.

Which one out of the following
characteristics of competition is false ?

(1) Impersonal process
(2) Continuous process
(3) Accommodative process

(4) Universal process

“Religion is belief in supernatural
power.” Whose statement is this ?

(1) Durkheim

" (2) Tylor

(3) Frazer
(4) Morgan

According to Malinowski, Sorceryis :,
(1) White magic _

(2) Contagious magic

(3) Black magic

(4) [Imitative magic

Who said that process Sanskritization
is anticipatory socialization ?

(1) A.K.Saran
{(2) Yogendra Singh

- (3) Yogesh Atal

(4) Deepanker Gupta

George Simmel’s classification of
group as Monad, Dyad, Triad is based
on '

(1) Physical proximity
(2) Nature of membership
(3) Social relations

(4) Size .of the group

15
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36.

37.

38.

39.

40.

. “Tool per

Polar statuses are those statuses which
are
(1) In reverse directions

(2) In pairs

(3) Available on North pole and
South pole
(4) In anti-roles

To solve the tribal problems who
suggested to establish the “National
Park™ 7

(1) Alwin Varrier
(2) D.N. Majumdar
(3) G.S. Ghurye
(4) All of above

With whose name would you associate

classification of “situational” and -
“systematic™ crime ?

(1) ‘Walton
(2) Gibbons
(3) Bonger
(4) Lemert

According to Lundberg which one is
excellence” in social
research 7

(1) Schedule
2) Questio_nnairé
(3) Interview
(4)' Observation

Durkheim referred to solidarity based
on differentiation as

(1) Organic
(2) Rational

(3) Secular .

(4) Al of the above
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Studies which are to be conducted in
the relatively new fields are known as

(1} Explanatory
(2) Hypothetical
(3) Exploration
(4) Diagnostic

Which of the following statements

regarding Hypothesis is correct ?

(1) tentative answer to research

problem .
(2) unrelated to theory
not amenable to empirical testing

4

to have independent variables

Who among the following conceived
of human society as an organism ?

(1) Durkheim
(2) Spencer
(3) Parsons
{4) Weber |

Marx perceived petty bourgeoisie as
(1) I'nte_grated class

(2) Aclassin itself

(3) A transitional class

(4) A class for itself

Auguste Comte divided the study of
society into

1
2)
3

Social statics and social dynamics
in-groﬁp and out-group
infrastructure and super structure

social mbrphology and social

physics

15
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47.
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Who among the classical sociologists
has used quantitative method in
comparative analysis 7

(1) Karl Marx
(2) Max Weber
(3) Emile Durkheim
(4) Auguste Comte

Who among the following has
analysed the stages of social evolution
as simple, - compound, doubie
compound and trebly compound ?

(1) L.H. Morgan
(2) H. Spencer

- (3) Durkheim

(4) Lipset

In his book “Protestant Ethic and the
spirit of Capitalism” Weber considered
religion to be for the
development of modern capitalism.

(1) the only cause of

(2) notacauseof

(3) one of the important causes
(4) of no consequence in

According to Karl Marx, which of the
following is the base of consciousness ?

(1) Forces of production
(2) Capital and labour
(3) Mode of production

@) All the above

Who considered modemity as an

unfinished project 7

(1) J.Derida

(2) A. Giddens
(3) Merton
(4) I.Habermas
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52.

53.

54,

55.

Who used the term social physics for
sociology 7

(1) Herbert spensor
(2) Emile Durkhiem
(3) August Comte
(4) Karl Marx

The concept of ‘Formal sociology’ has

been given by
(1) George Simmel
(2) T.B. Bottomore
(3) Sorokin
(4) Bogardus

Auguste Comte’s idea of development
is expressed in which of the following
three stages ?
(1) Primitive,
Capitalism
(2) Militant,
Industrial
(3)
4)

Feudalism and

Industrial and Post

Theological stage, Meta Physical
Stage and Positivist Stage
Historical Path, Empirical Path
and Analytical Path

Who among the following formulated
the concept of ‘Quasi Group’ ?

1)
2
3
S

Cooley
Sumner
Mead
Bottomore

An association is not a community, but
a group within a community

(1) Statement is true
(2) Statement is false
(3) Statement is partially true
{4) Statement is partially false
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56.

57.

58.

59.

60.

61.

According to Durkhiem, the most

- primitive type of religion is

(1) Animism
(2) Naturalism
(3) Totemism
{(4) Manaism

According to sociological perspective

the study of marriage is based on

(1) Rites & Rituals

(2) Sexual relations among male &
female -

(3) Rearing of kids

4)

System of role .
Who has divided the subject-matter of
sociology as social morphology, social
physiology and general sociology ?
(1) Morris Ginsberg
(2) Emile Durkhiem
(3) Alex Inkles
(4) F. Tonnies

Which is an incorrect match ?

(1) Sanskritization - M.N.
Srinivas
(2) Multiple traditions - Yogendra
Singh
(3) Cultural Lag - Ogburn
(4) Folkways - Sumner

“All sciences have unity in its method
not in its subject matter.” Who quote

" this statement ?

(1) Jahoda & Cook

(2) August Comte

(3) Karl Pearson

(4) Lundberg

A Hindu can not change his
(1) Ancestral home

(2) Vama

(3) Caste -

(4) Religion
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62.

63.

64.

65.

Phenemenclogy is a radical alternative
to

{1} Evolutionism

(2) Positivism

(3) Functionalism

(4) Diffusionism

The concept of ‘I’ and ‘Me’ with
reference to development of “self” was
used by '
(1) Sigmund Freud

(2) Charles Horton Cooley

(3) George Herbert Mead

(4) Emile Durkheim

Which one of the following 1is
significant factor of population that
determines the level of births and
deaths ?

(1) Rate of mortality

(2) Rate of fertility

(3) Age composition

(4) Sex composition

Match the List-1 and List-II and select
correct answer by using codes below
the lists :

List — I List —I1
A. Id,ego & 1. Charles
superego Cooley
B. Collective 2. Sigmund
consciousness Freud
C. Looking glass 3. Emile
self theory Durkheim
D. I, Meand 4. G.H. Mead
significant
other
Codes :
A B C D
(1) 2 3 1 4
2 1 2 3 4
(3) 3 1 2 4
@ 4 2 3 1

15
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66.

67.

68.

| 69.

70.
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A system which is based on blood and

affinal relationship is called

(1) Family

(2} Gotra

(3) Kinship
(4) Joint family

“Hypothesm 18 a tentative
generalization, the validity of which

remains to be tested.” Who has given

this definition ?

: (I) P.V. Young

(2) Lundberg
(3) Goode and Hatt
(4) C.A.Moser

Which is not a feature of scientific
method ? '

(1) Vertfiability -
(2} Objectivity

{3) Generalization
(4) Subjectivity

“Science begins with observation and
must ultimately retum to observation
for its final validation.” Who has given
this statement ?

(1) Goode and Hatt
(2) P.V. Young
(3) Karl Pearson.
(4) C.A.Moser

Who used the method of focussed
interview for the first time ?

(1) Jahoda and Cook
(2) Robert K. Merton
(3) Lundberg

(4) HsinPao Young
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71.

72.

73.

74.

75.

iG]

Which method is considered exactly
the opposite of sampling method ?

(1) Statistical technique
(2) Quota technique
(3} Census method

(4) Universe

Who has propounded the concept of
“white collar crime” ?

(1) Sutherland
(2) Cohen
(3) Merton

(4) Parsons

Who said “Criminals are born” ?
(1) Cohen

'{2) Sutherland

(3) Lombrosso
{4) Walter Reckless

Elliot “conditional

freedom from imprisonment” is called

According to

(1) Probation
(2) Parole

(3) (1) & (2) both

(4) After care services -

The determining feature of a good

.sample is

small size

easy to study

easy to approach
Representativeness

(D
(2)
3

15
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77.
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79.

80.
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76.

77.

78.

79.

80.

Competition is always
(1) Common struggle
(2) Group struggle

(3) Unconscious
struggle

and impersonal

(4) Conscious and personal struggle

The concept of “Role set” was
introduced by

(1) Linton
(2) Merton
(3) Veblen
(4) Weber

During interview, ‘Interview Guide’ is
used by

(1) Respondent
(2) Interviewer
(3) Tabulator

(4) Statistician

“QOkkalinga caste” of Mysore is
famous for the study of

. (1) Lower caste.

(2) Higher caste
(3} Dominent caste
(4) Untouchable caste

Article 16 represents for women.
(1) Equal opportunity in public
services

(2) No biasness on the basis of
religion, caste, birth place or

_ gender bias.
(3) Equal stand for freedom of
expression.
(4) Equal provisions for means of
- livelihood
o
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81.

82.

83.

84.

85.

Article 330 is meant for

(1) Provisions for reservation seats of
scheduled caste and scheduled
tribe in state assembly.

(2) National Commission for
scheduled caste and scheduled
tribes

(3) Provisions for reservation seats of
scheduled caste and scheduled
tribes in parliament.

(4) Provisions for services and
positions for scheduled caste and
scheduled tribes

Herbert Spencer is associated with

(1) Class struggle
(2) Positive method -
(3) Social evohition

'(4) Action research

-Who wrote the book “Madness and

Civilization™ ?

(1) Jean Baudriliard
(2) Anthony Giddens
(3) M. Foucalt

(4) J. Alexander

When did- sociology develop as a
special subject ?

(1) Year 1818
(2} Year 1835

(3) Year 1838

(4} Year 1848

According to C. Wright Mills,
sociology is

(1) A craft

(2) A science

(3) Anart

(4) A method

15
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87.
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89.
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86.

87.

88.

89.

Who said, “Sociology is the study of
social groups” ?

(1) H.M. Johnson
(2) AM.Rose

(3) Maclver and Page
(4) Max Weber

‘Neither it. is proper to - consider
sociology as an universal science nor a
science of synoptic view of human
society’, it reveals that

(1) Sociology is an independent

science
(2)
(3)

Sociology is a particular science

Sociology is related to other
social sciences

Sociology is related to natural
sciences

Q)

is true
the

Which of the following
regarding sociology in
development of social sciences ?

M

It -is mother of other social

sciences

(2) It developed last as per sequence

(3) It developed along with other
social sciences

(4) It has no relation with other social
sciences . '

Who made wuse of the term

‘Gessel chaft’ to explain the concept
of society ?

(1) F.Tonnies
{2) Bottomo.re
(3) Davis

{(4) Maclver
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90.

o1.

92.

93.

94,

“Which of the following characteristic

is not related to ‘society’ ?

(1) Abstractness
(2) Concreteness
(3) Relation
(4) Conflict

The term ‘Gemeinschaft’ was used to
explain which of the Tfollowing
concept 7 :

(1) Community
(2) Society
(3) Group
(4) Institution

The characteristic of homogeniety is
foundin :

(1) Association
(2) Community
(3) Society
(4) Group

What is the name of a group with face

~ to face close relations ?

(1) secondary group
(2) reference group
(3) primary group
(4) formal group

Which of the following is an example
of secondary group ?

(1) Trade union
(2) Family

(3) Play group
4) Peer group

15




95.

96,

97.

98.

99,

100.
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95.

96.

97.

98.

99.

‘Where did K.M. Kapadia conduct the

study of family ?
(1) In Navsari
(2) In Mahua
(3} In Shamirpet
(4) In Ramnagar

T?lor analysed religion from which
point of view 7 .

(1) Functional

(2) Metaphysical

(3) Historical

{4) Social

The type of magic activities aimed to
harm some one are known as -

(1) Contagious magic

(2} White magic

(3) Yellow magic

{4) Black magic

Which of the fblloWing element is not
_found in communalism ?

(1) Tolerance
(2) Prejudice
(3) Tension
{(4) Insecurity

What is the main cause of corruption ?
(1) Economic

- (2) Religious

100,

(3) Cultural

{4) Natural

Change in structure and functions of

society is called as
(1) Religious change
(2) Cultural change
(3) Social change

* (4) Structural change
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102,

103.

104.

105.

101. Which of the following is not included

among the characteristic of social
change ?

(1) Climate
(2) Structure
(3) Universality

.(4) Time

Which of the following is not a cause
of social change ?

(1) Demographic
(2) Cultural
(3) Technology
(4) Familial

Such groups which are not eternal but
generally  dissolve  with  the
achievement of goals. They are known
as R

(1) Institution
(2) Association
(3) Crowd

(4) Community

The culture of ordinary people in pre
industrial societies; is known as

(1) Sub culture
(2) Mass culture
(3) Folk culture
(4) High culture

The concept of ‘social structure’ was
used by which sociologist for the first
time ?7 :

(1} Auguste Compte
(2) Herbert Spencer
(3) Emile Durkheim
(4) Max Weber
15
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106.

107.

1 108.

109.

110.

Which of the following element is not

- related to social structure ?

(1) Idea
(2) Social norm

" (3) Social status

(4) Social role

According to Davis, the ‘position’
sanctioned by society is called as

" (1) Prestige

(2) Esteem
(Sj Strata
(4) Status

Which of the following presented the

learning process on psychological

~ basis ?

(1) Piaget
(2) Durkheim
(3) Davis
(4) Parsons

What is the view point of Durkheim in
the theory of socialization ?

(1) Cultural

(2) Social
(3) Psychological
(4) Logical

According to Ogburn and Nimcoff the
process and means by which a group
minimizes the violation of social
norms.?

(1) Social control

(2) Social organization

(3) Social institution

(4) Socialization
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111.

112.

113.

114.

115.

Which of the following is not a form
of social control ?

(1 Conscious and '_unconscious
(2) Co-operation and conﬂ{ct -
(3) Direct and indirect

(4) Posﬁive and Negative

An individual, his brother and
brother’s children are which kind of
kins ?

(1) Marital kinship
(2) Blood kinship
(3) Parallel kinship
(4) Matrilineal kinship

How many types of secondary kins are
there ?

(1 21
Q) 27
(3) 33
4) 39

An address mixed with an individual
and kinship term was termed by Tylor
as

(1) Teknonymy
(2) Joking relation
(3) Exchange

(4) Quvade

According to census 2011, what was
the ratio of women per thousand men
in India ?

(1) 830
) 910
3) 940
4) 950

15
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116.

117.

118.

119,

120.
- of ‘Global village’ ?

What is the present life expectancy
average age of women in India ?

(1) 69.6 years
(2) ©67.3 years
(3) 63.9 years
{4) 62.3 years

What is the correct sequence of the
steps in social research ?

(1) Formulating problem, Hypothe51s
Data analysis, Data collection

(2) Hypothesis, Formulating problem,
Data collection , Data analysis

(3} Formulating problem, Hypothesis,
Data collection, Data analysis

(4) Formulating  problem, Data
collection, Hypothesis, Data
analysis

The research where no list of units to

be studied is available, in that situation
which method of sampling is suitable

(1) Random sampling

(2) Multi stage sampling

(3) Regular interval sampling
{4) Non probability sampling

The hypothesis does not exist in reality
but is used to test research hypothesis,
that is named as

(1) Working hypothesis
(2) Null hypothesis

(3) Research hypothesis
(4} Alternate hypothesis

Who is the profounder of the concept

(1) R. Gilpin

- (2) Malcolm Waters

(3) Marshal Macluhan
(4) Anthony Giddens
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121.

122.

1)

(&)

123.

124.

125.

The book ‘principles of psychology’ is
authored by

(1} John Dewey

- (2) William James

(3) Ebbinghaus
(4) Wundt

A good teacher
encourages learners to engage in
activity

)
(3)

nurtures learner’s curiosity

involves learners in real world
situations

All of the above

The stage of cognitive development
according to Piaget, in which a child
displays object permanence is

(1) Formal operational stage
(2) Concrete operational stage
(3) Pre-operational stage

' (4) Sensori motor stage -

Which of the following stages is called
the age of problems ?

(1) Adolescence

(2) Adulthood

(3) Childhood

(4) None of the above

The basis of constructivists principle

teaching is : '

(1) learning by doing

(2) listening to the teacher

(3) repeating the content spoken by
the teacher

(4) Relation between the teacher and

the student

15
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126,

127.

128.

129.

130.

Experience cone for presentation of
audio-visual relation is given by

(1) Edger Dale
(2) Kilpatric
(3) John Dewey
(4) Morrison

A mentally healthy person will show
which of the following behaviour ?

(N

Pointing out the mistakes of

others

(2)

Exploring means of correcting

his’her mistakes _
Finding out weaknesses of others

3)
(4

None of these

The problem solving ability depends

upon the

(1) Growth in height and weight

(2) Development of vocabulary

{3) Development of thinking and
reasoning

(4) Development in size and shape

In emotional intelligence, which will
not be considered a component ?

(1) Self management
(2) Self analysis
(3) Self motivation
(4) Empathy

Social learning takes place

(1) in alienation

- (2) incrowd

(3) by contact
(4) by audio-visual aids

B
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The type of learning explained by
Albert Bandura is also known as

(1) Operant learning
(2) Observational learning
(3) Insight learning

(4) Experiential learning

Communication in the classroom is
inter communication between

(1) teacher-teacher
(2) teacher-students
(3) student- students -
(4) None of the above

Which one of the following is not the
element of co-operative leamning ?

4] Heterogenous group
(2) Equal opportunity
(3) No social interaction

(4) Positive interdependence

The components of teaching model are
(1) Aims and objectives

(2) Objectives and syntax

(3) Social system and evaluation

(4) All the above

Which one of the following factor is
not concemed  with  effective
classroom communication ?

(1) Appropriate gestures
(2) Content clarity
(3) Rbhetorical language

(4) Two way process
15
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136.

137.

138.

139,

140,

On whom did Thorndike experimented
to show the theory of ‘trial and error’ ?

(1) Monkeys

(2) Cats |
(3) Rats ‘

(4) Humans

While using internet, the letters

“www" means

(1) World Wide Wrestling
(2) World Wide Working
(3) World Wide Web

" (4) World Wide Wild

The process of two sided interaction
by satellite based technology is known
as '

(1) e-mail

(2) Teleconferencing
(3) Computer

(49 C.D.ROM

The characteristic of a computer is
(1) Accuracy

(2) Versatility

(3} Speed

(4) All of the above

What is the correct order according to
constructivist principle based teaching
model ?

(1) Explore, Explain, Elaborate,
Evaluate

(2)- Explain, Explore, Elaborate,
Evaluate '

(3) Explain, Explore, Evaluate,
Elaborate '

(4) Elaborate, Explore, Explain,
Evaluate h
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141.

142.

143.

144,

145,

CLASS Project (Computer Literacy
and studies in schools) was started by
(1) SIERT (2) SCERT
(3) NCERT (4) NCTE

Which of the following is not a
definite and universal level of the
development of morality according to

‘Lawrence Kohlberg ?

Pre-moral level

Conventional morality level

Post moral level

Self accepted moral principles
level

ey
(2)
(3)
)

According to Jones, guidance is not
the help given by one person to
another person out of the following :

(1)
(2)
3)
)

making choices
making adjustment
solving own prob_lenﬁs N

doing research work

Which of the following is not a
Technology based teaching aid ?

(1) Activity aids
(2) Simple hardware
(3) Hardware

(4) Software

Which of the following is least
important with reference to models of
teaching ? :

(1) Designing and specifying
instructional objectives

(2) Developing and  selecting
instructional material

(3) Development of assessment and
evaluation

(4) Specifying teaching-learning

. activities .

15
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146.

147.

148.

149.

150.

At present which of the following is

using EDUSAT ?

(1) Institute of Advance Study of
Education

(2) District Institute of Educatlon &
Training

(3) College of Teacher Education

(4) Block Resource Centre

Which of the following is not a major
concept of Lewin’s Field theory of

learning ?

(1) Differentiation
(2) Life space -
(3) Vectors and valences

(4) Topology

Which of the following is not a

characteristic of a well adjusted

person ?

(1) Awareness of own strengths and
. limitations

(2) Respecting one’s self and the
‘others

Possess critical or fault finding
attitude _
Capable of  struggling with odd
circumstances

3)
@)

Which of the following is an internal

factor of causing frustration ?

(1) Economic factors

(2) Physical abnormality

(3) Lack of water and electncuy
(4). Somal factors

Advance orgamzer model was the

-result of the efforts of

(1) Bruce Joyce
(2) David Ausubel
(3) John Ausubel
(4) Joyce and Weil
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